
Profess ional  Suppl ies

 537115 ol 2014.11 

537.115 FOODWARMER - SPARE PART LIST

1

NO CODE DESCRIPTION Q’TY 

1 Z-TS13B-001Z LID COMPLETE(#1,2,29,30,31,32 ) 1

3 Z-TS13B-003 STAINLESS STEEL KETTLE 1

27 Z-TS13B-004 WATER TANK 1

24 Z-TS13B-005 THERMAL ON-OFF 1

22,23 Z-TS13B-006 BODY (LOWER + UPPER EXTERIOR) 1

9 Z-TS13B-007 EGO THERMOSTAT 1

17 Z-TS13B-008 SCREW FOR LEG / M5 STAINLESS STEEL NUT 3

11 Z-TS13B-009 CHIEF LINE / STAINLESS STEEL GASKET 1

16 Z-TS13B-010 RUBBER BALL 3

8 Z-TS13B-011 WIRE AND PLUG 1

13 Z-TS13B-012 BOTTOM BOARD 1

20 Z-TS13B-013 INDICATOR LIGHT 1

19 Z-TS13B-014 KNOB OF SWITCH 1

26 Z-TS13B-015 HEATING ELEMENT 1

28 Z-TS13B-016 RING LID 1

4 Z-TS13B-017 M3.9x13 STAINLESS STEEL SCREW 1

5 Z-TS13B-018 1

6 Z-TS13B-019 M3.9x12 STAINLESS STEEL SCREW 1

7 Z-TS13B-020 M3 GALVANIZED NUT 1

10 Z-TS13B-021 M4 STAINLESS STEEL NUT 1

11 Z-TS13B-022 STAINLESS STEEL GASKET 1

12 Z-TS13B-023 M4x6 STAINLESS STEEL SCREW 1

14 Z-TS13B-024 M4.2x9.5 STAINLESS STEEL SCREW 1

15 Z-TS13B-025 M5x16 STAINLESS STEEL SCREW 1

17 Z-TS13B-026 M5 STAINLESS STEEL NUT 1

18 Z-TS13B-027 M4x6 STAINLESS STEEL SCREW 1

21 Z-TS13B-028 RED PLASTIC SIGN 1

25 Z-TS13B-029 1


